Sumas Basicas (C)

Halle cada suma.

3+7= 3+1= 3+45= T+6=
6+7= 242 = 243 = T+1=
14+4= 14+1= 34+3= 744 =
2+7 = 5+6= 3+6= 3+7 =
445= 5+3= 3+6= 443 =
T4+7 = 445= 1+6= 14+7=
5+7= 5+7= 742 = 244 =
1+5= 4+1= 1+5= 545=
3+1= 1+6= 444 = 24+1=
6+6= 44+6= 6+4= 4+7=
5+6= 2+6= 1+2= 442 =
245= 242 = 1+1= 544 =
34+2= 14+4= 142 = T+5=
5+5= 6+6= 446 = 1+7=
1+3= 547 = 3+2= 245=
446= 443 = 24+ 1= 2+5=
247 = 247 = 442 = 244 =
544 = 5+3= 5+6= 1+6=
3+6= 6+1= 1+5= 543=
6+2= T+1= 2+6= T+4=
34+6= 347 = 1+4= 5+6=
74+6= 347 = 14+5= 443 =
T+6= T+7= 343= 444 =
1+3= T+4= 4+7= 3+1=
3+7 = T4+5= 2+5= 6+7=
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Sumas Basicas (C) Respuestas

3+7=10
6+7=13
1+4=5
2+7=9
4+45=9
7+7=14
5+7=12
14+5=6
34+1=4
6+6=12
5+6=11
24+5=7
342=5
5+5=10
1+3=4
446=10
2+7=9
5+4=9
3+6=9
6+2=8
34+6=9
7+6=13
7+6=13
1+3=4
3+7=10

34+1=4
2+2=4
14+1=2
5+6=11
5+3=8
4+45=9
5+7=12
441=5
14+6=7
446=10
2+6=8
2+2=4
1+4=5
6+6=12
5+7=12
4+43=7
2+7=9
5+3=8
6+1=7
7+1=8
34+7=10
34+7=10
7+7=14
T+4=11
7+5=12

Halle cada suma.

34+5-8
243=5
3+3=6
34+6=9
34+6=9
146=7
74+2-9
14+5=6
44+4-8
6-+4-10
142=3
14+1=2
142=3
446=10
34+2-5
24+1=3
442-6
5+6-11
14+5=6
2+6-8
144=5
14+5=6
3+3-6
447=11
2+45-7

7+6=13
7+1=38
T+4-11
34+7-10
443=7
14+7=8
2+4-6
5+5=10
2+41-=3
44+7=-11
442-6
5+4-9
7+5-12
14+7=8
24+5=7
24+5=7
2+4+4-6
14+6=7
5+3-8
7+4-11
54+6=11
443=7
44+4-3
34+1-=4
6+7=13
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